Chapter 3 Warm-Up 

Name_______________________________ Period ______
______1) Fill in the missing symbol: If m, n, and p are coplanar lines and  m ( n and n ( p, then m ? p.   Draw it.  

______2) Name a line that is skew to AB.  

_______  3)  A system of equations is shown below.


3x + 2y = 12



y = x + 1

Which ordered pair represents the solution to this system of equations?
A. (1.25, 2.25)

B. (2, 3)

C. (2.2, 3.2)

D. (3, 2)
________ 4) Naomi took a 40-question history exam. The exam only had multiple-choice questions and short-answer questions. Each multiple-choice question was worth one point; each short answer question was worth five points; the whole exam was worth 100 points. Which system of equations could be used to solve for m, the number of multiple-choice questions, and s, the number of short-answer questions?

A.
 s + m = 40

5s + m = 100

B.
 5s + m = 40

s + m = 100

C. 
m + s = 40

5m + s = 100

D. 
5m + s = 40

m + s = 100

_______ 5)  Cathy wants to use the substitution method to solve this system of equations. The four steps below show how she solved the system of equations.

x + y = 5

2x + 3y = 10

Step 1: y = 5 - x

Step 2: 2x - 15 - x = 10

Step 3: x - 15 = 10; x = 25

Step 4: y = 5 - 25; y = -20

In which step did the first error occur?
A. Step 1

B. Step 2

C. Step 3

D. Step 4
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